Limit theorems for the Markov random walks describes by the generalization of autoregressive process of order one (AR(1))

Soltan A. Aliyev, Fada G. Rahimov, Irada A. Ibadova

Received: 12.04.2022 / Revised: 19.12.2022 / Accepted: 05.03.2023

Abstract. In this paper are proved the strong law of large numbers and the central limit theorem for the Markov random walks describes by the generalization autoregressive process of order one.

Keywords. Markov random walks, autoregressive process of order one, strong law of large numbers, central limit theorem

Mathematics Subject Classification (2010): 62M10, 60F15

1 Introduction and problem statement

Let (Ω, F, P) be a probability space, and $\{\xi_n, n \ge 1\}$ be a sequence of independent random variables with $E\xi_n = 0$ and $E\xi_n = \sigma_n^2$. Define the sequence random variables $\{X_n\}$ by

$$X_n = \theta_0 X_{n-1} + \xi_n \tag{1.1}$$

for some fixed number $\theta_0 \in (-\infty, \infty)$, where initial value X_0 is independent of $\{\xi_n\}$.

In the case of independent and identically distributed random variables ξ_n (i.i.d) the process is call a autoregressive process of order one (AR(1)) ([1]-[9]).

We know that ([8], [9]) the least-squares estimator θ_0 for θ (1.1) gives

$$\theta_n = \frac{\sum_{i=1}^n \frac{X_i X_{i-1}}{\sigma_i^2}}{\sum_{i=1}^n \left(\frac{X_{i-1}}{\sigma_i}\right)^2}.$$
(1.2)

In [9] was shown that under conditions

S.A. Aliyev Institute of Mathematics and Mechanics, Baku, Azerbaijan, E-mail: soltanaliyev@yahoo.com

F.G. Rahimov Baku State University, Baku, Azerbaijan, E-mail: ragimovf@rambler.ru

I.A. Ibadova Institute of Mathematics and Mechanics, Baku, Azerbaijan, E-mail: ibadovairade@yandex.ru

$$\sup_{i} \frac{\sigma_{i+1}^2}{\sigma_i^2} < \infty \quad \text{and} \quad \sum_{n=1}^{\infty} E\left(\frac{\xi_n^2}{\sigma_n^2} \wedge 1\right) = \infty, \tag{1.3}$$

where $(a \land 1) = min(a, 1)$ convergence almost surely $\theta_n \xrightarrow{a.s.} \theta_0$ as $n \to \infty$ is true. Set

$$A_n = \sum_{i=1}^n \frac{X_i X_{i-1}}{\sigma_i^2}, \ M_n = \sum_{i=1}^n \frac{\xi_i X_{i-1}}{\sigma_i^2}, \ B_n = \sum_{i=1}^n \left(\frac{X_{i-1}}{\sigma_i}\right)^2$$

Then we have from (1.2)

$$\theta_n = \frac{A_n}{B_n} = \theta_0 + \frac{M_n}{B_n}$$

It follows that convergence almost surely

$$\frac{M_n}{B_n} \stackrel{a.s.}{\to} 0 \text{ of } n \to \infty$$
(1.4)

is the necessary and sufficient condition for $\theta_n \stackrel{a.s.}{\to} \theta_0$ of $n \to \infty$.

In was shown that conditions (2.3) are sufficient for (1.4).

Note that in work [1] for the case of (i.i.d) random variables ξ_n with $E\xi_1 = 0$ and $E\xi_1^2 = 1$ was shown that if $|\theta_0| < 1$ and $EX_0^2 < \infty$ as $n \to \infty$

$$\frac{A_n}{n} \xrightarrow{a.s.} \frac{\theta_0}{1 - \theta_0^2}, \quad \frac{B_n}{n} \xrightarrow{a.s.} \frac{1}{1 - \theta_0^2}$$
$$D_n = \frac{A_n^2}{B_n} \xrightarrow{a.s.} \frac{\theta_0^2}{1 - \theta_0^2}.$$
(1.5)

Furthermore, in [8] for the case of i.i.d. random variables ξ_n with $E\xi_1 = 0$ and $E\xi_1^2 < \infty$ is obtained the following result: if $|\theta_0| < 1$ and $EX_0^2 < \infty$, then

$$\lim_{n \to \infty} P\left(\sqrt{n} \left(\theta_n - \theta_i\right) \le x\right) = \Phi\left(\frac{x}{\sqrt{1 - \theta_0^2}}\right), \quad x \in R = (-\infty, \infty), \qquad (1.6)$$

where $\phi(x) = \frac{1}{\sqrt{2\pi}} \int\limits_{-\infty}^{x} e^{-y^2/2} dy.$

Next we prove the strong law a of large numbers of the form (1.5) and with some additional assumptions the central limit theorem for A_n , B_n and D_n for the independent nonidentically random variables.

Note that the statistics A_n , B_n and D_n playes important roule in nonlinear Markov renewal theory and in sequential analysis ([1]-[7]).

Theorem 1.1 Let $\{\xi_n, n \ge 1\}$ be a sequence of independent random variables with $E\xi_n = 0$ and $E\xi_n^2 = 1$. Suppose that $\sum_{n=1}^{\infty} E(\xi_n^2 \land 1) = \infty$ and $|\theta_0| < 1$, $EX_0^2 < \infty$. Then as $n \to \infty$

$$\frac{B_n}{n} \xrightarrow{a.s.} \frac{1}{1 - \theta_0^2},\tag{1.7}$$

$$\frac{A_n}{n} \xrightarrow{a.s.} \frac{\theta_0}{1 - \theta_0^2},\tag{1.8}$$

and

$$\frac{D_n}{n} \xrightarrow{a.s.} \frac{\theta_0^2}{1 - \theta_0^2}.$$
(1.9)

Proof. By equality

$$X_i^2 = \theta_0^2 X_{i-1} + 2\theta_0 X_{i-1} \xi_i + \xi_i^2$$

and

$$\sum_{i=1}^{n} X_i^2 = \sum_{i=1}^{n} X_{i-1}^2 + X_n^2 - X_0^2$$

We have

$$\sum_{i=1}^{n} X_{i-1}^{2} + X_{n}^{2} - X_{0}^{2} = \theta_{0}^{2} \sum_{i=1}^{n} X_{i-1} + 2\theta_{0} \sum_{i=1}^{n} X_{i-1}\xi_{i} + \sum_{i=1}^{n} \xi_{1}^{2}$$

or

$$\left(1-\theta_0^2\right)\sum_{i=1}^n X_{i-1}^2 = \sum_{i=1}^n \xi_1^2 + 2\theta_0 \sum_{i=1}^n \xi_1 X_{i-2} + \left(X_0^2 - X_n^2\right).$$
(1.10)

In view of $X_n^2 = \theta_0^2 X_n^2 + 2\theta_0 \xi_n X_{n-1} + \xi_n^2$ by (1.1). We have

$$EX_n^2 = 1 + \theta_0^2 E X_{n-1}^2, \tag{1.11}$$

since random variables ξ_n and X_{n-1} are independent and $E\xi_n = 0$, $E\xi_n^2 = 1$. From (1.11) we obtain

$$EX_n^2 = 1 + \theta_0^2 + \theta_0^4 + \dots + \theta_0^{2n-2} + \theta_0^{2n} EX_0^2,$$

wich by asumptions $| heta_0| < 1$ and $EX_0^2 < \infty$ yield

$$EX_n^2 \to \frac{1}{1-\theta_0} \text{ as } n \to \infty.$$
 (1.12)

By (1.12) and Chebyshev's inequality we have

$$\frac{X_0^2 - X_n^2}{n} \xrightarrow{P} 0 \text{ as } n \to \infty.$$
(1.13)

We have by (1.12)

$$E\left(\frac{1}{n}\sum_{i=1}^{n}\xi_{1}X_{i-1}\right)^{2} = \frac{1}{n}\sum_{i=1}^{n}E\xi_{1}^{2} \cdot EX_{i-2}^{2}$$
$$= \frac{1}{n^{2}}\sum_{i=1}^{n}EX_{i-1}^{2} \to 0 \text{ as } n \to \infty.$$

Hence

$$\frac{1}{n}\sum_{i=1}^{n}\xi_{1}X_{i-1} \xrightarrow{P} 0 \text{ as } n \to \infty.$$
(1.14)

Applying Kolmoqorov's theorem on the strong law of large numbers for random variable ξ_n^2 .

We have

$$\frac{1}{n}\sum_{i=1}^{n}\xi_{1}^{2} \xrightarrow{a.s.} 1 \text{ as } n \to \infty.$$
(1.15)

By (1.13), (1.14) and (1.15) from (10) it follows that

$$\frac{B_n}{n} = \frac{1}{n} \sum_{i=1}^n X_{i-1}^2 \xrightarrow{P} \frac{1}{1 - \theta_0^2} \text{ as } n \to \infty.$$
(1.16)

It is easy to see (1.16) is true for almost sure convergence, sense the sequence B_n , $n \ge 1$ increating to infinity $B_n \xrightarrow{a.s.} \infty$ as $n \to \infty$. Consequently,

$$\frac{B_n}{n} \stackrel{a.s.}{\to} \frac{1}{1 - \theta_0^2} \quad as \quad n \to \infty.$$
(1.17)

Now we prove (1.8). Note that

$$A_n = \sum_{i=1}^n X_i X_{i-1} = \theta_0 \sum_{i=1}^n X_{i-1}^2 + \sum_{i=1}^n \xi_i X_{i-1}$$

or

$$\frac{A_n}{n} = \frac{\theta_0}{n} \sum_{i=1}^n X_{i-1}^2 + \frac{1}{n} \sum_{i=1}^n \xi_i X_{i-1}.$$
(1.18)

Under conditions of theorem 1.1 (see [9])

$$\frac{M_n}{B_n} = \frac{1}{B_n} \sum_{i=1}^n \xi_i X_{i-1} \stackrel{a.s.}{\rightarrow} 0 \text{ as } n \to \infty.$$

By (1.17) we have

$$\frac{1}{n}\sum_{i=1}^n \xi_i X_{i-1} = \frac{M_m}{n} = \frac{B_n}{n}\frac{M_n}{B_n} \stackrel{a.s.}{\to} 0 \text{ as } n \to \infty.$$

Then by (1.17) from (1.18) we obtain

$$\frac{A_n}{n} \xrightarrow{a.s.} \frac{\theta_0}{1-\theta_0^2} \text{ as } n \to \infty.$$

Convergence (1.9) by (1.7) and (1.8) follows from equality

$$\frac{D_n}{n} = \frac{n}{B_n} \left(\frac{A_n}{n}\right)^2.$$

Next, we shall prove the central limit theorem for A_n, B_n and D_n .

Let $N(\mu, \sigma^2)$ be a random variable with normal distribution with mean μ and variance σ^2 .

Theorem 1.2 Suppose that the sequence $\{\xi_n, n \ge 1\}$ of independent random variables with $E\xi_n = 0$, $E\xi_n^2 = 1$ is uniformly integrable and $\sum_{n=1}^{\infty} E(\xi_n^2 \wedge 1) = \infty$. If $0 < |\theta_0| < 1$ and $EX_0^2 < \infty$, then as $n \to \infty$.

$$\int_{I} 0 < |\theta_0| < 1 \text{ and } EX_0 < \infty, \text{ then as } n \to \infty.$$

$$\int_{I} \sqrt{n} \left(\frac{B_n}{n} - \frac{1}{1 - \theta_0^2} \right) \stackrel{d}{\to} N(0, \alpha_1), \text{ where } \alpha_1 = \frac{1}{|\theta_0|^2 \left(1 - \theta_0^2\right)}. \quad (1.19)$$

2)

$$\sqrt{n}\left(\frac{A_n}{n} - \frac{\theta_0}{1 - \theta_0^2}\right) \xrightarrow{d} N(0, \alpha_2), \quad where \quad \alpha_2 = \frac{1}{1 - \theta_0^2}.$$
(1.20)

3)

$$\sqrt{n}\left(\frac{D_n}{n} - \frac{\theta_0^2}{1 - \theta_0^2}\right) \xrightarrow{d} N(0, \alpha_3), \quad where \quad \alpha_3 = \frac{\theta_0^2}{1 - \theta_0^2}.$$
 (1.21)

Proof. Under conditions of theorem 1.2 in paper [6] is obtained the following result (see (1.6))

$$\sqrt{n} \left(\theta_n - \theta_0\right) \xrightarrow{d} N\left(0, 1 - \theta_0^2\right) \text{ as } n \to \infty.$$

or

$$\lim_{n \to \infty} P\left(\sqrt{n} \left(\theta_n - \theta\right) \le x\right) = \Phi\left(\frac{x}{\sqrt{1 - \theta_0^2}}\right),$$

$$x \in R, \ \Phi(x) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^x e^{-y^{2/2}} by.$$
(1.22)

Without of logs set $\sigma^2 = 1$.

Applying (1.22) we have in view of $\frac{B_n}{n\theta_n} \rightarrow \frac{1}{\theta_0(1-\theta_0^2)}$ for the case $0 < \theta_0 < 1$

$$\lim_{n \to \infty} P\left(\sqrt{n}\left(\frac{B_n}{n} - \frac{1}{1 - \theta_0^2}\right) \le x\right) = \lim_{n \to \infty} P\left(\frac{B_n}{n} \le \frac{x}{\sqrt{n}} + \frac{1}{1 - \theta_0^2}\right)$$
$$= \lim_{n \to \infty} P\left(\theta_n \cdot \frac{B_n}{n\theta_n} \le \frac{x}{\sqrt{n}} + \frac{1}{1 - \theta_0^2}\right) = \lim_{n \to \infty} P\left(\theta_n \le \frac{x\theta_0(1 - \theta_0^2)}{\sqrt{n}} + \theta_0\right)$$
$$= \lim_{n \to \infty} P\left(\sqrt{n}\left(\theta_n - \theta_0\right) \le x\theta_0\left(1 - \theta_0^2\right)\right)$$
$$= \Phi\left(\frac{x\theta_0\left(1 - \theta_0^2\right)}{\sqrt{1 - \theta_0^2}}\right) = \Phi\left(x\theta_0\sqrt{1 - \theta_0^2}\right). \tag{1.23}$$

For the case $-1 < \theta_0 < 0$ by the equality $\varPhi(x) = 1 - \varPhi(-x)$ we obtain

$$\lim_{n \to \infty} P\left(\sqrt{n}\left(\frac{B_n}{n} - \frac{1}{1 - \theta_0^2}\right) \le x\right) = \Phi\left(-x\theta_0\sqrt{1 - \theta_0^2}\right)$$

which together with (1.23) yields

$$\lim_{n \to \infty} P\left(\sqrt{n}\left(\frac{B_n}{n} - \frac{1}{1 - \theta_0^2}\right) \le x\right) = \Phi\left(x \left|\theta_0\right| \sqrt{1 - \theta_0^2}\right),$$

from which (1.19) follows.

For the proof of (1.20) by (1.22). We have in view of $\frac{A_n}{n\theta_n} \stackrel{a.s.}{\to} \frac{1}{1-\theta_0^2}$ as $n \to \infty$ $\lim_{n \to \infty} P\left(\sqrt{n}\left(\frac{A_n}{n} - \frac{\theta_0}{1 - \theta_0^2}\right) \le x\right)$ $=\lim_{n\to\infty} P\left(\frac{A_n}{n} \le \frac{x}{\sqrt{n}} + \frac{\theta_0}{1-\theta_0^2}\right)$ $= \lim_{n \to \infty} P\left(\theta_n \frac{A_n}{n\theta_n} \le \frac{x}{\sqrt{n}} + \frac{\theta_0}{1 - \theta_0^2}\right)$ $= \lim_{n \to \infty} P\left(\theta_n \le \frac{x\left(1 - \theta_0^2\right)}{\sqrt{n}} + \theta_0\right)$ $= \lim_{n \to \infty} P\left(\sqrt{n} \left(\theta_n - \theta_0\right) \le x \left(1 - \theta_0^2\right)\right)$ $= \varPhi\left(x\sqrt{1-\theta_0^2}\right),$ which proves (1.20).

Finally by (1.22), in view of $\frac{D_n}{n\theta_n} \stackrel{a.s.}{\to} \frac{\theta_0}{1-\theta_0^2}$ as $n \to \infty$ for the case $0 < \theta_0 < 1$, we have

$$\lim_{n \to \infty} P\left(\sqrt{n}\left(\frac{D_n}{n} - \frac{\theta_0^2}{1 - \theta_0^2}\right) \le x\right)$$

$$= \lim_{n \to \infty} P\left(\frac{D_n}{n} \le \frac{x}{\sqrt{n}} + \frac{\theta_0^2}{1 - \theta_0}\right)$$

$$= \lim_{n \to \infty} P\left(\theta_n \frac{D_n}{n\theta_n} \le \frac{x}{\sqrt{n}} + \frac{\theta_0^2}{1 - \theta_0}\right)$$

$$= \lim_{n \to \infty} P\left(\theta_n \le \frac{x(1 - \theta_0^2)}{\theta_0\sqrt{n}} + \theta_0\right)$$

$$= \lim_{n \to \infty} P\left(\sqrt{n}\left(\theta_n - \theta_0\right) \le \frac{x\left(1 - \theta_0^2\right)}{\theta_0}\right)$$

$$= \Phi\left(x\frac{\sqrt{1 - \theta_0^2}}{\theta_0}\right). \quad (1.24)$$

For $-1 < \theta_0 < 0$, by equality $\Phi(x) = 1 - \Phi(x)$ we have

$$\lim_{n \to \infty} P\left(\sqrt{n}\left(\frac{D_n}{n} - \frac{\theta_0^2}{1 - \theta_0^2}\right) \le x\right) = \Phi\left(-x\frac{\sqrt{1 - \theta_0^2}}{\theta_0}\right),$$

which together (1.24) yields

$$\lim_{n \to \infty} P\left(\sqrt{n}\left(\frac{D_n}{n} - \frac{\theta_0^2}{1 - \theta_0^2}\right) \le x\right) = \Phi\left(x\frac{\sqrt{1 - \theta_0^2}}{|\theta_0|}\right),$$

from which (1.21) follows.

r

Note that the above results are of importance in nonlinear Markov renewal and in certain statistical applications ([1], [2], [9]).

References

- 1. Melfi, V.F.: Nonlinear Markov renewal theory with statistical applications, Ann. Probab. 20 (2), 753-771 (1992).
- Novikov, A.A.: On the first exit time of an autoregressive process beyond a level and an application to the "change-point" problem, (Russian) Teor. Veroyatnost. i Primenen. 35 (2), 282292 (1990); translation in Theory Probab. Appl. 35 (2), 269279 (1991).
- Rahimov, F.H., Abdurakhmanov, V.A., Hashimova, T.E.: On the asymptotics of the mean value of the moment of the first level-crossing by the first order autoregression process AR(1), Trans. Natl. Acad. Sci. Azerb. Ser. Phys.-Tech. Math. Sci. 34 (4), Mathematics and Mechanics, 9396 (2014).
- Rahimov, F.H., Azizov, F.J., Khalilov, V.S.: Integral limit theorem for the first passage time for the level of random walk, described by a nonlinear function of the sequence autoregression AR(1), Trans. Natl. Acad. Sci. Azerb. Ser. Phys.-Tech. Math. Sci. 34 (1), Mathematics and Mechanics, 99104 (2014).
- Rahimov, F.H., Azizov, F.J., Khalilov, V.S.: Integral limit theorem for the first passage time for the level of random walk, described with AR(1) sequences, Trans. Natl. Acad. Sci. Azerb. Ser. Phys.-Tech. Math. Sci. 32 (4), Mathematics and Mechanics, 95100 (2012).
- 6. Rahimov, F.N., Khalilov, V.S., Hashimova, T.E.: On the generalization of the central limit theorem for the least-squares estimator of the unknown parameter in the autoregressive process of order one (AR(1)), accepted in Uzbek Mathematical Journal.
- Rahimov, F.N., Ibadova, I.A., Farkhadova, A.D.: Limit theorems for a family of the first passage times of a parabola by the sums of the squares autoregression process of order one (AR(1)), Uzbek Math. J. (2), 81-88 (2019).
- 8. Pollard, D.: Convergence of Stochastic Processes, Springer, New-York, (1984).
- 9. Shiryaev, A.N.: Probability, Translated from the Russian by R. P. Boas. Graduate Texts in Mathematics, 95. *Springer-Verlag, New York* (1984).